1. < AOBC.
D(b) .OBC + ZBOC + ZOCB = 180°
4 S .
X - L—B-rlloﬂ-lc—lSO”
2 2
: _ABHLC  soeo110°= 707
Q 2
XP = XR 2B+ £C = 1407
£XPR = /XRP ZA = 180° - 140° = 407
If ZPSX = ZRQX, 5. (d)
then, PS = RQ ~ i ¢
2. (b) ’

B %

AB% 4 AC? = BC? = ZBAC = 90°
= AB? + AC? = 2AR%

= AB? = AC2

= AB = AC

/ABC = Z/ACB =450

3. (d)
p
&

AC=QC

- ZOAC = ZCQA = x

CR=CB 3

s LCBR=ZCRB =y

- FromAPQR,

Zx+ Zy+ 40° = 180

Lx+ Ly = 140° e (d)

AAC’Q+4ACB+ABCR== 180°
= 180° - 2x + £ ACB + 180° - 2y
= 180°
=ZACB=2(x+y) - .~~~
2%x140-180°=100°
1800
Z ACB=2 (x+y) -
4. (a)

o

w
In AABC,
LA+ LB +2C = 180°

~BE = 50°
- 3AC + /BCA = 90°
.:BE = 90" - B0® = 40*
ZABE = ZACE = 40°
ZACE = ZDEC = 40°

6. (a)

. AABC,
A+ 48+ 2C = 180°
ABOC. /BOC = 110"

B .
0
5t = 180°-110"=70

B+ C=140°
ZBAC = 1807 ~ 140° = 40°
7. (b)
I\

B ED G

-4 = 180° - 60" - 40° = 80°

_8AD = = 40¢

2
3AE = 180° - 60" - 90° = 30°
_DAE = 40° - 30¢ = 10°
8. (a)

Line angle and Triangle (Solutionc) § ¥

Y X
ZACB = 65°
ZAOB = 2 x 55° = 130°
ZOAP = 90% ZAOP = 65°

<. ZAPO = 1807 - 90° - 65°

e 25°
9. (b)

ZA+ /B + ZC = 180°

% B EC gou_ﬁ
2 2 2
In ABOC,
£ZB «LC
.k = 180°
ZBOC + ) 2

ZA
= 102° + 90° - B = 180°

g

LA
37 = 102° + 90° - 180° = 12°

w5 /A = 240
10. (a) the angle subtended at the
centre by an arc is twice to that of
angle subtended at the circumference.

1
.. LCAD 5 ZCOD = 70°

o ZBAD = 70° + 40° = 110°
S ZBCD = 180° - 110° = 7¢°
11. (d)

C




Test Your Skill

.. OA=0B=AB

- AOAB is an equilaterai trizingle.
o ZAOB = 60

The angle subtended by an arc at
the circumference is half of that
at the centre.

E o2
ZACB = 5% 60° = 30°
12. (c)

ZABC + ZCBP = 180
= LB+ 2 /1= 180°
= 2£1=180°- 4B

1

= £1=90°- - ZR .,
2

Again, ZACB + ZQCB = 180°
1

= £2=90°- Y 26

[n 4 BOC,
L1+ £2+ /ZBOC = 180°

1 1
90°~ — /B + /90°— —

2 2 2
ZC + ZBOC = 180°

y 1
— /BOC = -2-(£B + £C)

{180°- ZA)

b | —

LA

N -

= ZBOC = 90° -

= 60° = 90° - LA

ISR

= /A = 60°
13. (d)
A

B N o)
/BAC =80°
ZABC + ZACB =100°
ZOBC + /0CB =50°

~BOC =180° —50% =130°
14. (d)

4) A

L% %
T
BC

ZBAC = 80°
s 4B * LC =180° - 80° = 100°

» ZOBC + ZOCB = 50°

s £BOC = 180° - 50°

= 130°

15. (b) It will be a right angle.
16. (b)

ZAQC = 130°

ZADC = é-x 130°= 65°

£PBC = ZADC = 65°
17. (B) 3x+3x +4x =180°

= 9x =180° = x = 20°
angle of the triangle 400, 60° and 80°
AB||CD
/ DCE= Z ABC=60°
/ ACB+ £ ACD+ ~ DCE=1800°
/£ ACD=1800°-1200=600°
A

D

VAN

Z ACB=180°-75°-45°=60°
~~CD = 180° - 60" = 120° = x

a3 C

B0 = ZACB = x
_ SAC = 180° - 2x
ZAD = 180° - 2x
_3AD = 180°

30 = {180° —2x) x 2
507 ~ Z2x = 90°
s _x=90° = 2~ BCD
20. (b)
E_A+/B=85°
. C=180°-65°= 115°,
Lz« ZC=140°
»— B=140°- 115° = 25°
21. (d)
e

823=90°
~3AD =90° - 35° = 55°
22. (d)

E>R=110° =

ZOPR =250

Z/QPR =110° + 2 =55°

OR =O0P

ZOPR = /PRO =25°

ZOQR = ZORQ =70/2 = 35°

/PRQ = 25° +35° = 60°
23. (c)




ZAOE = 150°
ZDAO = 51°
ZEOB = 180° - 150° = 30° - -
OE = OB
150
». ZOEB = LOBE = —— = 75°
s ZCBE = 180° - 75° = 105°
24. (a)
AN

?/

=
<Iniim

/BO/A = 45°

= /AOD =a°
and ~DOB =Db°

a® +b° = ~AOB = 45°
25. (c) In equilateral triangle
orthocentre and centroid lie at the

same point.
A
R C
D
26. (d)
B !

In equilateral triangle c_ey A
incentre, orthocentre Coit.. 4
the same point.
. Ef_f}g}\_}_ = inradius
] 3
. Height = Median =3 > .
=9 cm.

27. (b) Triangle will be equilateral.

28.(c)

11
AD=b
BD=DC=x
Tan60°=AD/BD

J3=b/x

x:L :BC=2x=2—b

B B
area of the triangle
2
a:lxz—bxb :>b—=\/§
2 a

NG

29. (1)
i) P

Q : R >
ZPR( - GO°

ZPRS = 180° - 60" = 1204
ZPSR - ZRPS = 680°

RS =PR

. LPSR = ZRPS

/PSR = 922 =30

30.
2 A

v/

N

sl
AB = AC - 201 tiuts
BC — aunis
a
BDLD=DC = ; Lasits
.
AD = JAR? — B2
"‘ 2 P {Eﬂa
= pda” - — = T
) |
. ] A
2 nils
31. (c)

1

c

AC =HC -Bem
< AB = Jac?.pc?
= 5% 482 = V50 = 542 cu

32. (d)
(4

AR - AC =2x
AL =00 =y

L R T
= A wm AL = AQY
=L AD X Qa2

s AR=2

2

A x I

T T T

AR = AC

G ZABC e AACHE = B
s 2ZADHE = 0=

= LBAD = 554,

34. (b)

B C
AB=AC=AD




Test Your Skill

ZABC = ZACB =30°
/BAC =180° —60° =120°
/DAC =180° -120° = 60°
ZADC + ZACD =120°
ZACD =120°/2 = 60°
/BCD = ZACB+ ZACD
=30°+60° =90°

35. (d)

'U
O

60°

=C

A B
ZBAC = 90°
AB = /AD? + BD?

= J36+16 =52 cm

AABD and AABC are similar.

. AB_BD
"' BC AB
= AB? = BC x BD
= 52=BC x4
52
= BC=—=13cm
4
38. (C)
2 A

B O

i AC?
~3xBC="——

AC? =2 AB x BC

It

1l

I

(AB-BC)? =0

AB = BC

_BAC = ZACB = 45°
39. (c)

C

A

/BAC =90°

/ADC =90°

BC =8cm, AC =6cm

AB = /8 —6?
=J14x2 = 2/7cm

Area AABC

ABZ + BC2=2 AB x BC

=%x BCXAD,%XABXAC

— 8xAD = 2./7 x6
W7
2

= AD=——cm

14463

4
AABC ABxAC  2./7x6
AACD CDxAD 9 37
2

4
81g
2

9
—X
3

2T x6x4

9><3><\/7

40. (b)

AABC _ AB?
ADEF ~ DE?2

=16:9

20 _ 25
= 45 DE?
45x25 225

D e SIS
= DER T508 = 4

15
- DE = o = 7.5 cm
41. (c)

B C E F

AABC ~ ADEF

AABC 32 54 9

¥ i o iy 23 =
" ADEF 42 ADEF 16

=5 ADEF:l?%E)i

= 96 sq.cm.
42. (b)
AABC _ AB? 100 _25
ADEF DEZ 64 16
43. (B)




' ¢SET-01

= ['\

B C

£ZB + £C = 180 - 50 = 130°

In ABIC,

ZIBC + ZICB + ZBIC = 180°
4B «£C

e 15 St - o
= ) 5 * ZBIC = 180

1
= £BIC = 180° - 5 (£B + £C)

. 130
180° - N
=180° - 65° = 115°
44. (C)

It

A

D A
B3 & .

ZABD = 120°

s ZABC = 180° - 120° = 60°
ZACE = 105°

% LACB = 180% - 105°% = 75°

.. £BAC = 180° - 60° - 75° = 45°
45. (b)

D = = E
/ABD=n1-B ZACE=7-C
ZABD+ ZACE = 21— (B+C)
=2n—(n—A)=n+A
46. (b)

A

B C

~BOC =90° +%LBAC

-90° +15% =105°




